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14 H 500kg % 4,500M/kgx0.15=337.5FF 14£H 500kg X 4,500M/kg x 0.15=337.5FH
2% H 500kg x 4,500M/kgx0.15=337.5FM 2% H 500kg x 4,500M/kg x 0.15= 337.5FM
34 H 400kg x 4,000M/kg*x0.15=240FF 34 H 500kg x 2,000FM/kg x 0.15=150FHM
4% H 500kg x 2,000M/kgx0.15=150FFH 4% H 500kg x 4,500M/kg x 0.15= 337.5F M
5% H 500kg x 4,500M/kgx0.15=337.5FM 5% H 500kg x 4,500M/kg x 0.15= 337.5F M
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B-A=97.5(FHM)

97.5(FF)/10(a) x 55,000(a)
=536,250(FH)

$1,4025F .. A $1,500F .. B 1EmET
S1EDREM 536,250 (FF) /5(4F)=107,250 (FF)
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